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Note: (1) Question No | 5 compulsory,
(2} Attempt any [nree questions out of remaining T ve Guestion
(3} Assume suitibie data if required,

L. Solve any four each carry equal marks, 20
(a})  Explain conneition and phasor diagram of Yd | taasformers.
(b) Explain the oporating principle of three phase tducton mot

(¢) Explain capaciior start single phase .M,

(d) Explain need of parallel operations of transtonriers | Ll
condition for parallel operation,
(¢) Draw and explam torque slip characteristics of 3
2. (4) Explain the swiwching-in transient phenomen Rl transtormer 10
(bY Two three phase transformers rated at SO nd 430 KVA respectively 10
and conrected in paraliel to supply a loa KVAat 0.8 PF lagging, The
per phase leakige resistance and reggla I ihe 1St transformer is 2.5%
and 6% respectively and of secory 6% and TV respesiively
Calculate the KVA load and PE each trunsformer Operates
¥ (a) Explainwith o neat diagrar e and craveline phenomenen ind e LM, 20

(b) A three phase | M. hif#ng star conpected stitor Windino runs on 20y 10
3 Hzsuppiy. The g Mgistance and standsti] reactance are 0,12 and .85

per phase. The ruipge o™ gpr of rotor turns is | .8 ynd T L shipis 49y, Caleylate
trandevalepedic CEL, SRR OHRE an e s ol saiversnadl

Lorgue

d of starter for 3 phase LM, and caplain auto-transformer 10

V. 4pole. 50Hz 3 phase star connected .M. give the following 10

(=

Line current (A) [Power Up (w) Line voitage (v |

9 310 3040 |

=r Y - : |
Aasume stalur gt rotor ohimic losses are equit ai standstll, Draw circle

ciagram and fimu] Line current, power factor, slip. worgee end efflelency o F L.
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& (a) Draw equivalent circuit diagram of single phase L. M. based on double field g
revolving theory and explain the double field revolving theory.

(b) Explain shaded pole | phase [.M. in detall. )

6. Write short note on any two

(a) Scott connection of two | phase transformers. O

(b) Induction generator.
(c) Power flow in 3 phase [.M,
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